1. Let f(x) = –x2–2x+3

(a) Using the definition of derivative to find dy/dx.                          10%

(b) Find an equation of the tangent line to the graph of f at x = 1.                 5%

2. Given the equation x2y3 + 6x2 = y + 12

(a) using the method of implicit differentiation to find dy/dx.                  10%
(b) find dy/dx when x = 1.                                               5%

3. Find the relative maxima and the relative minima of the function f(x) = x + x-1   15%

4.   Max   U(X ,Y) = ln A +αln X + (ln Y

S.T.    Px X + PyY=M
Using the method of Lagrange multiplier to find the critical values X*,Y*, andλ*.  15%
5. Evaluate the definite integral: 
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( hint: use the method of substitution ) 

6. Find the indefinite integral : 
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( hint: use the method of integration by parts )

7. Evaluate 
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, where f(x,y) = xey and R is the plane region bounded by the graph of y =x2 and y=x .                                              20%
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